			BIDDER:	ANDREW CHEVROLET		
LINE	ITEM	DESCRIPTION	AMOUNT	UNIT OF MEASURE OR METHOD OF CALCULATION		
1	VSC F	OR FORD AUTOMOTIVE SERVICE				
	А	LABOR RATE PER HOUR	NOT BID	4 HOURS	NOT BID	
		\$500 OEM PARTS			NOT BID	
	В	DEALER MARK-UP ON PARTS	NOT BID	FOR \$500 OEM PARTS	NOT BID	
	С	ENVIRONMENTAL SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID	
				OR		
				AMOUNT MAX. PER JOB	NOT BID	
		SHOP SUPPLY SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID	
ΤΟΤΑΙ	TOTAL FORD REPAIR JOB FOR BID AWARD PURPOSES				NOT BID	
2	VSC F	OR CHEVROLET AUTOMOTIVE SERVICE				
	А	LABOR RATE PER HOUR	\$54.87	4 HOURS	\$219.48	
		\$500 OEM PARTS			\$500.00	
	В	DEALER MARK-UP ON PARTS	15.000%	FOR \$500 OEM PARTS	\$75.00	
	С	ENVIRONMENTAL SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00	
				OR		
				AMOUNT MAX. PER JOB	\$35.00	
		SHOP SUPPLY SURCHARGE	4.000%	AS % OF LABOR TOTAL	\$8.78	
TOTAL CHEVROLET REPAIR JOB FOR BID AWARD PURPOSES					\$838.26	
THE F	THE FOLLOWING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF THE BID:					
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE	\$25.00) - \$75.00 BASED ON DISTANCE AN	ID TIME	
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW		UP TO \$150.00		

				BADGER TRUCK CENTER	
LINE	ITEM	DESCRIPTION	AMOUNT	UNIT OF MEASURE OR METHOD OF CALCULATION	TOTAL
1	VSC F	OR FORD AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	\$50.00	4 HOURS	\$200.00
		\$500 OEM PARTS			\$500.00
	В	DEALER MARK-UP ON PARTS	10.000%	FOR \$500 OEM PARTS	\$50.00
	С	ENVIRONMENTAL SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
				OR	
				AMOUNT MAX. PER JOB	\$40.00
		SHOP SUPPLY SURCHARGE	4.000%	AS % OF LABOR TOTAL	\$8.00
ΤΟΤΑΙ	TOTAL FORD REPAIR JOB FOR BID AWARD PURPOSES				\$798.00
2	VSC F	OR CHEVROLET AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	NOT BID	4 HOURS	NOT BID
		\$500 OEM PARTS			NOT BID
	В	DEALER MARK-UP ON PARTS	NOT BID	FOR \$500 OEM PARTS	NOT BID
	С	ENVIRONMENTAL SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
				OR	
				AMOUNT MAX. PER JOB	NOT BID
		SHOP SUPPLY SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
ΤΟΤΑΙ	TOTAL CHEVROLET REPAIR JOB FOR BID AWARD PURPOSES				NOT BID
THE F	OLLOW	VING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF TH	IE BID:		
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE		\$0.00	
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW		\$80.00	

			BIDDER:	BRA	EGER FORD
LINE	ITEM	DESCRIPTION	AMOUNT	UNIT OF MEASURE OR METHOD OF CALCULATION	TOTAL
1	VSC F	OR FORD AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	\$49.00	4 HOURS	\$196.00
		\$500 OEM PARTS			\$500.00
	В	DEALER MARK-UP ON PARTS	2.990%	FOR \$500 OEM PARTS	\$14.95
	С	ENVIRONMENTAL SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
				OR	
				AMOUNT MAX. PER JOB	\$0.00
		SHOP SUPPLY SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
TOTAL	FORD	REPAIR JOB FOR BID AWARD PURPOSES			\$710.95
2	VSC F	OR CHEVROLET AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	\$49.00	4 HOURS	\$196.00
		\$500 OEM PARTS			\$500.00
	В	DEALER MARK-UP ON PARTS	4.999%	FOR \$500 OEM PARTS	\$25.00
	С	ENVIRONMENTAL SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
				OR	
				AMOUNT MAX. PER JOB	\$0.00
		SHOP SUPPLY SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
TOTAL CHEVROLET REPAIR JOB FOR BID AWARD PURPOSES				\$721.00	
THE F	OLLOW	/ING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF TH	IE BID:		
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE		\$30.00	
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW		\$75.00	

			BIDDER:	EWALD \	/ENUS FORD
LINE	ITEM	DESCRIPTION	AMOUNT	UNIT OF MEASURE OR METHOD OF CALCULATION	TOTAL
1	VSC F	OR FORD AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	\$65.00	4 HOURS	\$260.00
		\$500 OEM PARTS			\$500.00
	В	DEALER MARK-UP ON PARTS	15.000%	FOR \$500 OEM PARTS	\$75.00
	С	ENVIRONMENTAL SURCHARGE	5.000%	AS % OF LABOR TOTAL	\$13.00
				OR	
				AMOUNT MAX. PER JOB	\$15.00
		SHOP SUPPLY SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
ΤΟΤΑΙ	FORD	REPAIR JOB FOR BID AWARD PURPOSES			\$848.00
2	VSC F	OR CHEVROLET AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	NOT BID	4 HOURS	NOT BID
		\$500 OEM PARTS			NOT BID
	В	DEALER MARK-UP ON PARTS	NOT BID	FOR \$500 OEM PARTS	NOT BID
	С	ENVIRONMENTAL SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
				OR	
				AMOUNT MAX. PER JOB	NOT BID
		SHOP SUPPLY SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
TOTAL CHEVROLET REPAIR JOB FOR BID AWARD PURPOSES					NOT BID
THE F	OLLOW	/ING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF TH	IE BID:		
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE		\$20.00	
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW		\$65.00	

	BIDDER: GORDIE BOUCHER LINCOLN-MERCURY, IN				
LINE	ITEM	DESCRIPTION	AMOUNT	AMOUNT UNIT OF MEASURE OR METHOD OF CALCULATION	
1	VSC F	OR FORD AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	\$44.00	4 HOURS	\$176.00
		\$500 OEM PARTS			\$500.00
	В	DEALER MARK-UP ON PARTS	8.900%	FOR \$500 OEM PARTS	\$44.50
	С	ENVIRONMENTAL SURCHARGE	3.000%	AS % OF LABOR TOTAL	\$5.28
				OR	
				AMOUNT MAX. PER JOB	\$10.00
		SHOP SUPPLY SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
ΤΟΤΑΙ	TOTAL FORD REPAIR JOB FOR BID AWARD PURPOSES				\$725.78
2	VSC F	OR CHEVROLET AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	NOT BID	4 HOURS	NOT BID
		\$500 OEM PARTS			NOT BID
	В	DEALER MARK-UP ON PARTS	NOT BID	FOR \$500 OEM PARTS	NOT BID
	С	ENVIRONMENTAL SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
				OR	
				AMOUNT MAX. PER JOB	NOT BID
		SHOP SUPPLY SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
TOTAL CHEVROLET REPAIR JOB FOR BID AWARD PURPOSES					NOT BID
THE F	OLLOV	/ING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF TH	IE BID:		
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE		\$0.00	
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW		\$95.00	

			BIDDER:	HILLER FORD, INC.	
LINE	ITEM	DESCRIPTION	AMOUNT	UNIT OF MEASURE OR METHOD OF CALCULATION	TOTAL
1	VSC F	OR FORD AUTOMOTIVE SERVICE			
	А	LABOR RATE PER HOUR	\$48.00	4 HOURS	\$192.00
		\$500 OEM PARTS			\$500.00
	В	DEALER MARK-UP ON PARTS	2.000%	FOR \$500 OEM PARTS	\$10.00
	С	ENVIRONMENTAL SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
				OR	
				AMOUNT MAX. PER JOB	\$0.00
		SHOP SUPPLY SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00
ΤΟΤΑΙ	TOTAL FORD REPAIR JOB FOR BID AWARD PURPOSES				\$702.00
2	2 VSC FOR CHEVROLET AUTOMOTIVE SERVICE				
	А	LABOR RATE PER HOUR	NOT BID	4 HOURS	NOT BID
		\$500 OEM PARTS			NOT BID
	В	DEALER MARK-UP ON PARTS	NOT BID	FOR \$500 OEM PARTS	NOT BID
	С	ENVIRONMENTAL SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
				OR	
				AMOUNT MAX. PER JOB	NOT BID
		SHOP SUPPLY SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID
ΤΟΤΑΙ	TOTAL CHEVROLET REPAIR JOB FOR BID AWARD PURPOSES				
THE F	OLLOV	VING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF TH	IE BID:		
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE		\$10.00	
COST	OF PIC	K-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW		\$70.00	

BID 2071 (CLOSED 1/29/2008 02:00 PM-CST) VSC - FORD & CHEVROLET AUTOMOTIVE SERVICES PURCHASING AGENT: DIANE MEREDITH-BERNDT TELEPHONE (414) 286-2395 E-MAIL: DIANE.BERNDT@MILWAUKEE.GOV

			BIDDER:	HOLZ N	MOTORS INC.]	
LINE	ITEM	DESCRIPTION	AMOUNT	UNIT OF MEASURE OR METHOD OF CALCULATION	TOTAL		
1	VSC F	OR FORD AUTOMOTIVE SERVICE					
	А	LABOR RATE PER HOUR	NOT BID	4 HOURS	NOT BID		
		\$500 OEM PARTS			NOT BID		
	В	DEALER MARK-UP ON PARTS	NOT BID	FOR \$500 OEM PARTS	NOT BID		
	С	ENVIRONMENTAL SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID		
				OR			
				AMOUNT MAX. PER JOB	NOT BID		
		SHOP SUPPLY SURCHARGE	NOT BID	AS % OF LABOR TOTAL	NOT BID		
ΤΟΤΑΙ		D REPAIR JOB FOR BID AWARD PURPOSES			NOT BID]	
2	VSC F	OR CHEVROLET AUTOMOTIVE SERVICE					
	А	LABOR RATE PER HOUR	\$76.10	4 HOURS	\$304.40		
		\$500 OEM PARTS			\$500.00		
	В	DEALER MARK-UP ON PARTS	25.000%	FOR \$500 OEM PARTS	\$125.00		
	С	ENVIRONMENTAL SURCHARGE	0.000%	AS % OF LABOR TOTAL	\$0.00		
				OR		THIS BIDDER	
				AMOUNT MAX. PER JOB	\$0.00		
		SHOP SUPPLY SURCHARGE	11.000%	AS % OF LABOR TOTAL	\$25.00	\$25.00 FOR TH	
ΤΟΤΑΙ		ROLET REPAIR JOB FOR BID AWARD PURPOSES			\$954.40	SHOP SUPPLY	
THE F	OLLOV	VING CHARGES WILL NOT BE FACTORED INTO THE AWARD OF TH	IE BID:				
COST	OF PIC	CK-UP AND DELIVERY PER OCCURRENCE		\$10.00]	
COST	ST OF PICK-UP AND DELIVERY PER OCCURRENCE, NON-WARRANTY TOW N/A						

AWARD WILL BE MADE TO THE LOW RESPONSIVE AND RESPONSIBLE BIDDER COMPLYING WITH THE SPECIFICATIONS.

NON-COMPLYING BID: BURGESS CAR & TRUCK - NOT A FORD/CHEVROLET AUTHORIZED DEALER